
: Ü à
5

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ F
MadrigalMadrigalMadrigalMadrigal

O false deceit

G G F FÜ
Peter Philipps

: Ü à

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

ˆ̂̂̂ ˆ̂̂̂ F G G G GÚ F G‡

< Ü à

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

G‡ H GÞ H G G F G G F G G

< Ü à

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

ˆ̂̂̂ G G G HÚ H GÚ G H H H H G G F

= Ü àýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ F F F F F GÜ GÞ F

: Ü
10 15

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

F F F F ˆ̂̂̂ ˆ̂̂̂ G‡ G ‹ H

: Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

GÚ G G GÚ F G‡ G ‹ H GÜ G G G G G
< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

Gê G F F ˆ̂̂̂ ˆ̂̂̂ G‡ G ‹ H GÜ G

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

ˆ̂̂̂ G‡ G ‹ H G ‹ H G G G ‹ H F ˆ̂̂̂

= Üýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ F F G‡ G ‹ H GÜ G F F ˆ̂̂̂
2511



: Ü
20

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

GÜ G G GÚ F ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ G‡

: Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

GÜ G F FÚ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ H‡ †

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

G G G ‹Ü H G G G G G ‹ H HÜ H H H F

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ G H† H H H H H H H H G H†

= Üýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ ˆ̂̂̂ ˆ̂̂̂ G‡ H GÜ H H G H H H HÜ H F

: Ü
25

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

G G G ‹ H H H HÜ H G ‡ ˆ̂̂̂ H H ‹ H{†

: Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

Hë G H H G H H H H H G ‡ H H H† H H G

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

ˆ̂̂̂ ˆ̂̂̂ H‡ † H ‹ H{ H ‹ H{ HÜ H H ‹ H{ H † ‡

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

Hê GÜ H H G H HÜ H H H H H H H H H G H H G

= Üýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ H H H† G G H H H H



: Ü
30 34

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H ‹ H{ H H H HÜ G G ‡ ˆ̂̂̂ H H H† H ‹Ü H{ H H

: Ü 34

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

Hê H H H G ‡ H H H† G ‹ H H H H H H ‹ H{ H H

< Ü 34

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H H H† H H G G H H H H H H GÜ H† G GÜ

< Ü 34

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

G ‡ ˆ̂̂̂ H‡ † H H H H G G H G†

= Ü 34ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ G ‡ H H H† H H H H G G GÜ G F
35

: Ü à 40

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H H H FÞ H‡ † GÜ G F H‡ † G G G G

: Ü à

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H H HÚ F ˆ̂̂̂ ˆ̂̂̂ H‡ † G G F G‡

< Ü à

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

G H F ˆ̂̂̂ H‡ † GÜ G F ˆ̂̂̂ G‡

< Ü à

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H H H G H† GÜ G F G‡ H H G G ‹ H F

= Ü àýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ H H H F F F F F F F



: Ü
45 50

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

Hê H G G G F ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ G‡ F

: Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

Hê H G G G G G H H G G G F G‡ G ‹ H

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

Hë H G G G G H† H H G H G H F G‡ G G

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

ˆ̂̂̂ G‡ H H G G ‹ H G G G G F G‡

= Üýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ ˆ̂̂̂ ˆ̂̂̂ G‡ H H G G G F G‡ FÜ

: Ü
55

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

Gê G G G G G G G G ‹ H H H H H H H H H H

: Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

G G G G G G G G H H H H H F H H‡

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

Gë G F G G G G F H H H H H H H G

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

G G G G G G G ‹ H F H H H H H H H G

= Üýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ F F F F F F F



: Ü
60

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

F ˆ̂̂̂ H H‡ H H H H H H H G F

: Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H H H H H H H H H G ‡ H H H H H G H F

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

Hê H H H H F H H‡ H H G F F

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H H‡ H H H H H H G G G H H G G H†

= Üýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ F H H‡ H H H H H H H H H H G G H H

: Ü
65

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ H G HÚ H ‹ H{ HÜ H HÞ H G

: Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

ˆ̂̂̂ H G H H ‹ HrH H H ‹ HrH H H H H H G ‡

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H H‡ H H H ‹ HÜ{ H H HÜ H H HÜ G G H H G ‡

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H H H ‹ H{ H H H H G ‡ ˆ̂̂̂ H G HÚ H ‹ H{ HÜ H

= Üýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ Hê H H ‹ H{ H H H H G ‡ ˆ̂̂̂ ˆ̂̂̂ H G HÞ



70

: Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

ˆ̂̂̂ ˆ̂̂̂ H‡ † H G HÚ H ‹ H{ HÜ H

: Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H G HÞ H ‹ H{ H H H H H H H H H H H H H G H HÜ H H H H H

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

ˆ̂̂̂ H G HÞ H ‹ HrH H H H H H G ˆ̂̂̂

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H ‹Ü H{ H H HÜ
H H H G ‡ ˆ̂̂̂ H G H

= Üýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ
H ‹ H{ H H H HÜ H H G ‡ ˆ̂̂̂ ˆ̂̂̂

75

: Ü
80

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H H H H HÚ H H H H H H H HÜ H H ‹ H{ F F

: Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H ‹ Hr H H G H† H H H H H H G HÚ F F

< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

ˆ̂̂̂ H G H HÜ H H H H H G F F
< Ü

ýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ

H ‹Ü H{ H H H H H H H ‹ H
r H H H H H ‹ H{ F F

= Üýý
ýý
ýý
ýý
ýý
ýý
þ

ÿ ˆ̂̂̂ H G HÚ H ‹ H{ HÜ H H H G F F


